



(An Autonomous Institution)
Coimbatore – 35

and the Jowei kanyour q the June. 
$$f(n) = \int_{0}^{a} \frac{\pi^{2}}{N} \frac{N}{N} = 0$$
and deduce that  $\int_{0}^{\infty} \frac{\sin s}{s^{2}} \cdot \frac{s \cos s}{s} \cdot \frac{\sin s}{s} \cdot \frac{s \cos s}{s} \cdot \frac{\sin s}{s} = \frac{3\pi}{16}$ 

and  $\int_{0}^{\infty} \frac{\sin s}{s^{2}} \cdot \frac{s \cos s}{s} \cdot \frac{\sin s}{s} \cdot \frac{\sin s}{s} \cdot \frac{\sin s}{s} = \frac{3\pi}{16}$ 

$$F(s) = \frac{1}{\sqrt{2\pi}} \int_{0}^{\infty} (\alpha^{2} + \alpha^{2}) \cdot (e^{\frac{\pi}{2} + \frac{\pi}{16}}) d\alpha$$

$$= \frac{1}{\sqrt{2\pi}} \int_{0}^{\infty} \frac{\alpha^{2}}{s^{2}} \cdot \frac{\cos s}{s} \cdot \frac{1}{\sqrt{2\pi}} \int_{0}^{\infty} \frac{\alpha^{2}}{s^{2}} \cdot \frac{\sin s}{s} \cdot \frac{\alpha^{2}}{s} \cdot \frac{\sin s}{s} \cdot \frac{\cos s}{s} \cdot \frac{\sin s}{s} \cdot \frac{\cos s}{s} \cdot \frac{$$





(An Autonomous Institution)
Coimbatore – 35

$$= \frac{-2a}{\sqrt{2\pi}} \frac{2\cos sa}{s^2} - \frac{2^{\circ}}{\sqrt{2\pi}} \frac{2^{\circ} s^{\circ} s^{\circ}}{\sqrt{2\pi}}$$

$$= -\frac{4a}{\sqrt{2\pi}} \frac{\cos sa}{s^2} + \frac{4}{\sqrt{2\pi}} \frac{\sin sa}{s^3}$$

$$\int_{0}^{(9)} \frac{4}{\sqrt{2\pi}} \left[ \frac{\sin sa}{s^2} - \frac{as\cos sa}{s^3} \right] \frac{\sin sa}{s^3}$$

$$\int_{0}^{(9)} \frac{4}{\sqrt{2\pi}} \left[ \frac{\sin sa}{s^3} - \frac{as\cos sa}{s^3} \right] \frac{\sin sa}{s^3} - \frac{\sin sa}{s^3} - \frac{\sin sa}{s^3} - \frac{\cos sa}{s^3} \int_{0}^{-isn} \frac{\sin sa}{s^3} - \frac{\cos sa}{s^3} \int_{0}^{-isn} \frac{\cos sa}{s^3} ds$$

$$a^2 - x^2 = \frac{4}{2\pi} \int_{-\infty}^{\infty} \left[ \frac{\sin sa}{s^3} - \frac{\cos sa}{s^3} \right] \cos s^2 ds$$

$$Take \quad x = \frac{4}{2\pi} \int_{0}^{\infty} \frac{\sin s}{s^3} - \frac{\cos s}{s^3} \int_{0}^{\cos s} \frac{s}{s^3} ds$$

$$1 - \frac{4}{4} = \frac{4}{\pi} \int_{0}^{\infty} \frac{\sin s}{s^3} - \frac{\cos s}{s^3} \int_{0}^{\cos s} \frac{s}{s^3} ds$$

$$\frac{3}{4} \times \frac{\pi}{4} \frac{3\pi}{(16)} \int_{0}^{\infty} \frac{\sin s}{s^3} - \frac{s\cos s}{s^3} \int_{0}^{\cos s} \frac{s}{s^3} ds$$





(An Autonomous Institution)
Coimbatore – 35

Pamevals 2 dentity:
$$\int_{-\infty}^{\infty} (\frac{1}{3}(2\pi)^{2})^{2} dx = \int_{-\infty}^{\infty} (\frac{1}{3}(2\pi)^{2})^{2} ds$$

$$\int_{-\alpha}^{\alpha} (a^{2}-2^{2})^{2} dx = \int_{-\infty}^{\infty} \left[\frac{1}{\sqrt{2\pi}} \left[\frac{3\sin sa - as\cos sa}{s^{3}}\right]^{2} ds$$

$$\int_{-1}^{\infty} (1-x^{2})^{2} dx = \frac{16}{2\pi} \times 2 \int_{-\infty}^{\infty} \frac{\sin sa - s\cos s}{s^{3}} ds$$

$$= \frac{16}{\pi} \int_{-\infty}^{\infty} \frac{\sin s - s\cos s}{s^{3}} ds$$

$$= \frac{16}{\pi} \int_{-\infty}^{\infty} \frac{\sin s - s\cos s}{s^{3}} ds$$

$$= \frac{16}{\pi} \int_{-\infty}^{\infty} \frac{\sin s - s\cos s}{s^{3}} ds$$

$$= \frac{16}{\pi} \int_{-\infty}^{\infty} \frac{\sin s - s\cos s}{s^{3}} ds$$

$$= \frac{16}{\pi} \int_{-\infty}^{\infty} \frac{\sin s - s\cos s}{s^{3}} ds$$

$$= \frac{16}{\pi} \int_{-\infty}^{\infty} \frac{\sin s - s\cos s}{s^{3}} ds$$





(An Autonomous Institution)
Coimbatore – 35

Find the fourier transform & deduce that

$$\frac{\left(\frac{\sin t - t \cos t}{t^3}\right) dt}{\left(\frac{\sin t - t \cos t}{t^3}\right) dt} = \frac{1 - x^2}{\left(\frac{1}{2}x^2\right)} = \frac{1 - x^2}{\left(\frac{1}{2}x^2\right)} = \frac{1 - x^2}{\left(\frac{1}{2}x^2\right)} = \frac{1}{\left(\frac{1}{2}x^2\right)} = \frac{1}{\left(\frac{1}{2}$$





(An Autonomous Institution)
Coimbatore – 35

$$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\left[\alpha x - \frac{is}{2\alpha}\right]^{2}} \frac{s^{2}}{4\alpha^{2}} dx$$

$$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\left[\alpha x - \frac{is}{2\alpha}\right]^{2}} \frac{s^{2}}{4\alpha^{2}} dx$$

$$= e^{-\frac{s^{2}}{4\alpha^{2}}} \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\left[\alpha x - \frac{is}{2\alpha}\right]^{2}} \frac{1}{\sqrt{2\pi}} dx$$

$$= e^{-\frac{s^{2}}{4\alpha^{2}}} \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{is}{2\alpha}} dx = \frac{1}{\alpha} dt$$

$$= e^{-\frac{s^{2}}{4\alpha^{2}}} \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{is}{2\alpha}} dx = \frac{1}{\alpha} dt$$

$$= e^{-\frac{s^{2}}{4\alpha^{2}}} \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{is}{2\alpha}} dx = \frac{1}{\alpha} dt$$

$$= e^{-\frac{s^{2}}{4\alpha^{2}}} \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{is}{2\alpha}} dx = \frac{1}{\alpha} dt$$

$$= e^{-\frac{s^{2}}{4\alpha^{2}}} \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{is}{2\alpha}} dx = \frac{1}{2} \int_{-\infty}^{\infty} e^{-\frac{is}{2\alpha}} dx = \frac{1}{2}$$